USING ELZAKI TRANSFORM TO SOLVING THE KLEIN-GORDON EQUATION

H. ALIMORAD D.¹, E. HESAMEDDINI², A. FAKHARZADEH J.²

ABSTRACT. In this paper, Elzaki transform and variational iteration method were applied to solve non-homogeneous Klein-Gordon equation. The reason of using Elzaki transform is that one obtains the exact solution of this problem. By the variational iteration method an iteration sequence is achieved which will converge to analytical solution of the Klein-Gordon equation.

Keywords: Elzaki transform, Klein-Gordon equation, variational iteration.

AMS Subject Classification: 35A22, 35A25, 35A99.

1. INTRODUCTION

A large number of physical and engineering problems lead to the partial differential equations. Such equations are often identified as differential equations with initial and boundary conditions. Usually for such equations, finding an analytical solution is either difficult or even sometimes impossible [7].

The Elzaki transform method which is based on Fourier transform, introduced by tarig Elzaki in 2010 (see [5]). In 2011 this method has been used to solve Integro-differential equation and partial differential equations [5] and [6]. The Elzaki transform method is a useful and simple method for solving partial differential equations. One of the advantages of this method is that we can exactly obtain the solution of the equations. In this paper, we use Elzaki transform method to solve non-homogeneous Klein-Gordon equation since the solution is obtained exactly and simply. One can see the efficiency of this method by solving the Klein-Gordon equations.

The variational iteration method is capable for solving different kinds of engineering and scientific problems that was first introduced by Inokuti in 1978 and then, generalized by He in 1999 and Hesameddini in 2009(see [1, 2, 3]).

Using this method, we can achieve a sequence with high convergence speed in which, at last, an exact solution of the problem will be achieved. This method has been invented for solving non-linear or even strictly non-linear problems. The Klein-Gordon equation is considered as follows:

$$u_{tt} - u_{xx} + b_1 u = f(x, t),$$

with initial conditions:

$$\begin{cases} u(x,0) = a_0(x), \\ u_t(x,0) = a_1(x), \end{cases}$$
(1)

¹Department of Mathematics, Jahrom University, Jahrom, Iran

²Faculty of Mathematics, Shiraz University of Technology, Shiraz, Iran

e-mail: h.alimorad@sutech.ac.ir

Manuscript received June 2015.

where b_1 is a real number and f is a known non-linear function. In this paper, we will solve non-homogeneous Klein-Gordon equation through Elzaki transform and variational iteration method, also comparing of these method will be demonstrated.

2. Elzaki transform

In this section we introduce Elzaki transform and state some useful formula of its properties. The Elzaki transform of the continues function f(t) is defined as (see[6]):

$$E[f(t)] = T(\nu) = \nu \int_{0}^{\infty} f(t) \exp^{\frac{-t}{\nu}} dt, \qquad t > 0, \quad \nu \in (-k_1, k_2), \tag{2}$$

and for the two variable function f(x, t), we have:

$$E[f(x,t)] = T(\nu) = \nu \int_{0}^{\infty} f(x,t) \exp^{\frac{-t}{\nu}} dt, \qquad t > 0, \quad \nu \in (-k_1, k_2).$$

also the Elzaki transform of partial derivatives of f(x, t) are defined as follows (see[6]):

$$E\left[\frac{\partial f}{\partial t}(x,t)\right] = \frac{T(x,\nu)}{\nu} - \nu f(x,0),$$

$$E\left[\frac{\partial f}{\partial x}(x,t)\right] = \frac{d}{dx}[T(x,\nu)],$$

$$E\left[\frac{\partial^2 f}{\partial x^2}(x,t)\right] = \frac{d^2}{dx^2}[T(x,\nu)],$$

$$E\left[\frac{\partial^2 f}{\partial t^2}(x,t)\right] = \frac{T(x,\nu)}{\nu^2} - f(x,0) - \nu \frac{\partial f}{\partial t}(x,0).$$
(3)

We also remined a useful properties of this transformation which will be used later. Let f(t) and g(t) having Elzaki transforms $M(\nu)$ and $N(\nu)$, then the Elzaki transform of the convolution of f and g is given by (for more detail see[5]):

$$E[(f * g)(t)] = \frac{1}{\nu} M(\nu) N(\nu).$$
(4)

Example 2.1.

Consider the Klein-Gordon equation:

$$u_{tt} - u_{xx} - 2u = \cos(x),\tag{5}$$

with initial conditions:

$$u(x,0) = 1 + x,$$
 $u_t(x,0) = 0.$

Let $T(x,\nu)$ be the Elzaki transform of u(x,t). Then, the Elzaki transform of the equation (5) is:

$$\frac{1}{\nu^2}T(x,\nu) - u(x,0) - \nu u_t(x,0) - 2T(x,\nu) + \nu^2 \cos x = \frac{d^2}{dx^2}T(x,\nu),$$

or equivalently,

$$\frac{d^2}{dx^2}T(x,\nu) + \frac{2\nu^2 - 1}{\nu^2}T(x,\nu) = \nu^2 \cos x - (1+x).$$

By using the inverse operator, result in:

$$\left[\frac{\nu^2 D^2 + 2\nu^2 - 1}{\nu^2}\right]T(x,\nu) = \nu^2 \cos x - (1+x),$$

where $D^2 \equiv \frac{d^2}{dx^2}$; Then, by solving this problem, one obtains:

$$T(x,\nu) = \frac{\nu^2}{\nu^2 D^2 + 2\nu^2 - 1} (\nu^2 \cos x - (1+x)) = \frac{\nu^2}{\nu^2 - 1} \nu^2 \cos x - \frac{\nu^2}{\nu^2 - 1} (1+x)$$

To obtain the inverse Elzaki transformation, we use the convolution theorem [6] for

$$\frac{\nu^2}{\nu^2 - 1}\nu^2 cosx,$$

then we get:

$$E^{-1}\left[\frac{\nu^2}{\nu^2 - 1}\nu^2 \cos x\right] = \int_0^t (-\sinh(t - x))dx = (1 - \cosh(t)),\tag{6}$$

and

$$E^{-1}\left[\frac{\nu^2}{\nu^2 - 1}(-(1+x))\right] = (1+x)\cosh(t).$$
(7)

Therefore, by (6) and (7) the solution is $u(x,t) = \cosh(t)(1+x) + (1-\cosh(t))\cos(x)$. In figure 1 the graph of this function for -5 < t < 5 and -5 < x < 5 will be shown. **Example 2.2.**

Consider

$$u_{tt} = u_{xx} - 2sinxsint + 2u,\tag{8}$$

subject to the initial conditions:

$$u(x,0) = 0, \qquad \qquad u_t(x,0) = sinx.$$

Let $T(x,\nu)$ be the Elzaki transform of u(x,t). Then, the Elzaki transform of equation (8) is:

$$\frac{1}{\nu^2}T(x,\nu) - u(x,0) - \nu u_t(x,0) = \frac{d^2}{dx^2}T(x,\nu) - 2sinx\frac{\nu^3}{1+\nu^2} + 2T(x,\nu),$$

or equivalently

$$\frac{d^2}{dx^2}T(x,\nu) + \frac{2\nu^2 - 1}{\nu^2}T(x,\nu) = sinx(\frac{2\nu^3}{1+\nu^2} - \nu).$$

By using inverse operator, it results in:

$$(D^{2} + \frac{2\nu^{2} - 1}{\nu^{2}})T(x, \nu) = sinx(\frac{2\nu^{3}}{1 + \nu^{2}} - \nu).$$

Thus we obtain the following relation:

$$T(x,\nu) = \sin x \left(\frac{2\nu^3}{1+\nu^2} - \nu\right) \left(\frac{\nu^2}{\nu^2 D^2 + 2\nu^2 - 1}\right) = \sin x \left(\frac{2\nu^3}{1+\nu^2} - \nu\right) \left(\frac{\nu^2}{\nu^2 - 1}\right),$$

To obtain the inverse Elzaki transformation, we must use the convolution theorem; then one gets:

$$\begin{split} E^{-1}[(\frac{2\nu^3}{1+\nu^2} - \nu)(\frac{\nu^2}{\nu^2 - 1})] \\ &= -2\int_0^t sinxsinh(t-x)dx - \int_0^t cosh(t-x)dt \\ &= \frac{-1}{2}cos(x)(\exp(x-t) - \exp(t-x)) + \frac{1}{2}sin(x)(\exp(x-t) + \exp(t-x))|_0^t \\ &= sint - sinh(t) + sinh(t) = sint. \end{split}$$

Therefore, u(x,t) = sinxsint, which is the exact solution of equation (8). In figure 2 the graph of this function for -3 < t < 3 and -3 < x < 3 will be shown.

179

3. VARIATIONAL ITERATION METHOD

Consider the nonlinear equation

$$L(u) + N(u) = g.$$

The variational iteration method is in this way (see [4]):

$$u_{n+1}(t) = u_n(t) + \int_0^t \lambda[L[u_n(x)] + N[\widetilde{u_n(x)}] - g(x)]dx,$$
(9)

where, L is a linear operation, N is a non-linear term, g(x) is a given known function and λ is an essential lagrange multiplier which is calculated by using variational theory [2]. In equation (9), n represents the nth approximation of the real solution u and $\widetilde{u_n(x)}$ is the part in which variations are limited and this means that variations are equal to zero in $\widetilde{u_n}$ ([3]).

$$\begin{cases} u_{n+1}(t) = u_n(t) + \int_0^t \lambda[L[u_n(x)] + N[\widetilde{u_n(x)}] - g(x)]dx, \\ \delta u_{n+1}(t) = \delta u_n(t) + \delta \int_0^t \lambda[L[u_n(x)] - g(x)]dx. \end{cases}$$
(10)

Example 3.1. Consider the following equation

$$u_{tt} - u_{xx} - 2u = \cos(x),$$

with the initial conditions:

$$u(x,0) = 1 + x,$$
 $u_t(x,0) = 0$

We present the function u(x,t) by the variational iteration method through the following equation([1]):

$$u_{n+1}(x,t) = u_n(x,t) + \int_0^t \lambda(s) [u_{n(ss)}(x,s) - u_{n(xx)}(x,s) - 2u_n(x,s) + \cos(x)] ds.$$

In order to obtain $\lambda(s)$, we consider the following variational relationship by supposing $\delta u_n(0) = 0$ and $\delta \widetilde{u_n} = 0$, as:

$$\delta u_{n+1}(x,t) = \delta u_n(x,t) + \delta \int_0^t \lambda(s) [u_{n(ss)}(x,s)] ds.$$
(11)

Using integration by part of (11) and stability condition, one obtains:

$$\delta u_{n+1}(x,t) = \delta u_n(x,t) + \lambda(s) \delta u_{n(s)}|_{s=t} - \delta \int_0^t \dot{\lambda}(s) u_{n(s)} ds$$

$$= \delta u_n(x,t) + \lambda(s) \delta u_n(s)|_{s=t} - \lambda \dot{(s)} \delta u_{n(s)}|_{s=t} + \delta \int_0^t \ddot{\lambda}(s) u_n ds,$$
(12)

such that:

$$\begin{cases} 1 - \dot{\lambda}(s)|_{s=t} = 0, \\ \lambda(s)|_{s=t} = 0. \end{cases}$$
(13)

180

Therefore, $\lambda(s) = (s - t)$.

Therefore, we conclude the following iteration relationship:

$$u_{n+1}(x,t) = u_n(x,t) + \int_0^t (s-t)[u_{n(ss)}(x,s) - u_{n(xx)}(x,s) - 2u_n(x,s) + \cos(x)]ds.$$
(14)

Inserting the initial condition, it results:

$$u(x,0) = 1 + x,$$
 $u_t(x,0) = 0$

The first guess for u is: $u_0(x,t) = 1 + x$. Then, by (13) one obtains:

$$\begin{cases} u_1 = (1+x) + \int_0^t (s-t)[-2(1+x) + \cos(x)]ds = (1+x) + t^2(1+x) - \frac{t^2}{2}\cos(x), \\ u_2 = (1+x) + t^2(1+x) + \frac{t^4}{6} - \frac{t^2}{2}\cos(x) - \frac{t^4}{24}\cos(x), \\ u_3 = u_2 + \frac{t^6}{90}(1+x) - \frac{t^6}{6!}\cos(x). \end{cases}$$
(15)

Thus where $n \to \infty$, one can conclude that:

$$u_n \to \cosh(t)(1+x) + (1-\cosh(t))\cos(x).$$

In section (2), we solved non-homogeneous Klein-Gordon equation with Elzaki transformation and we obtain its exact solution very simplicity. Also in this section, we have solved the Klein-Gordon equation by using variational iteration method.

Example 3.2.

Consider the following equation:

$$u_{tt} = u_{xx} - 2sinxsint + 2u,$$

with the initial conditions:

$$u(x,0) = 0, \qquad \qquad u_t(x,0) = sinx$$

We obtain its solution u(x,t) by the variational iteration method from the following sequence:

$$u_{n+1}(x,t) = u_n(x,t) + \int_0^t \lambda(s)[u_{n(ss)}(x,s) - u_{n(xx)}(x,s) - 2u_n(x,s) + 2\widetilde{sinxsins}]ds.$$
(16)

The same as example (3.1), taking $\lambda(s) = (s - t)$, we can construct the following iteration relationship:

$$u_{n+1}(x,t) = u_n(x,t) + \int_0^t (s-t)[u_{n(ss)}(x,s) - u_{n(xx)}(x,s) - 2u(x,s) + 2sinxsins]ds.$$
(17)

Considering the initial conditions:

$$u(x,0) = 0, \qquad \qquad u_t(x,0) = sinx,$$

our first guess will be as follow:

$$u_0(x,t) = t\sin(x).$$

Therefore from (16) we obtain:

$$\begin{cases} u_1 = -tsinx + \frac{t^3}{6}sinx + 2sintsinx, \\ u_2 = tsinx - \frac{t^3}{6}sinx + \frac{t^5}{5!}sinx, \\ u_3 = -tsinx + \frac{t^3}{6}sinx - \frac{t^5}{5!}sinx + \frac{t^7}{7!}sinx + 2sintsinx. \end{cases}$$
(18)

As it is observed, by repeating the above processes, it results:

$$u_n(x,t) = \left(-t + \frac{t^3}{3!} - \frac{t^5}{5!} + \dots + \frac{t^{2n+1}}{(2n+1)!}\right)\sin(x) + 2\sin(t)\sin(x),$$

where n is odd and

$$u_n(x,t) = \left(-t + \frac{t^3}{3!} - \frac{t^5}{5!} + \dots + \frac{t^{2n+1}}{(2n+1)!}\right)\sin(x),$$

if n is even. Therefore, if $n \to \infty$, one obtains:

$$u_n(x,t) = -\sin(t)\sin(x) + 2\sin(t)\sin(x) = \sin(t)\sin(x),$$

where n is an odd number and

$$u_n(x,t) = \sin(t)\sin(x),$$

where n is an even number which converges to the exact solution.

4. Conclusions

In solving Klein-Gordon problem using variational iteration method, Lagrang multiplier can be calculated easily and the obtained sequence is an recursive sequence which is converged to the real solution of this problem. This illustrates the effectiveness of this method in this specific problem. By using Elzaki transformation, we can obtain the exact solution of this equation, which is one of the advantages of this method. Comparing Elzaki transform method and variational iteration method, we can see that for linear and non-linear differential equation Elzaki method is a very useful tool.



Figure 1. $u(x,t)=\cosh(t)(1+x)+(1-\cosh(t))\cos(x)$



Figure 2. $u(x,t)=\sin(t)\sin(x)$

References

- He, J.H., (1999), Variational iteration method a kind of non-linear analytical techniqu: some example, Interational Journal of Non-linear Mechanics, 34, pp.699-708.
- [2] Hesameddini, E., Latifzadeh, H., (2009), Reconstruction of variational iteration algorithm using the Laplace transform, International Jornal of Nonlinear Sciences and Numerical Simulation, 10, pp.1365-1370.
- [3] Inokuti, A., Sekine, H., Mura, T., (1978), General Use of the Lagtange Multiper in Non-linear Mathematical Physics, In Variational Method in the Mechanics of Solids, Now York: Pergaman Press, pp.156-162.
- [4] Mokhtari, R., (2012), Variational iteration method for solving nonlinear differential-difference equations, International Jornal of Nonlinear Sciences and Numerical Simulation, 9(1), pp.19-24.
- [5] Tarig, M.E., Salih, M.E., (2011), On the solution of intgor-differential equation systems by using Elzaki transform, Global Journal of Mathematical Sciences: Theory and Practical, 3(1), pp.13-23.
- [6] Tarig, M.E., Salih, M.E., (2011), Application of new transform Elzaki transform to partial differential equations, Global Journal of Pure and Applied Mathematics, 7(1), pp.65-70.
- [7] Vazquez-Leal, H., (2015), The enhanced power series method to find exact or approximate solutions of nonlinear differential equations, Appl. Comput. Math., 14(2), pp.168-179.



Hajar Alimorad Dastkhezr is an assistant professor of Applied Mathematics at Jahrom University, Iran. Her areas of interest include optimization, optimal control and differential equations.



Esmail Hesameddini is a Professor of Applied Mathematics at Faculty of Mathematics of Shiraz University of Technology, Shiraz, Iran. His research interests are applied mathematics and computational sciences, numerical solution of ODE, PDE, integral equations, Sinc method.



Alireza Fakharzadeh Jahromi was born in Abadan, Iran in 1961. He received his BS and MS in mathematics at Shahid Chamran university of Ahvaz in 1986, and at Tarbiat Moddarres of Tehran in 1990, and the Ph.D. in applied mathematics from Leeds university of UK in 1996. He currently works as an Associate prof. in Shiraz university of Technology at Iran. His main interest researches are in optimization, optimal control and optimal shape design theory.